H £ 0l & AF & S

Al A

248 20lat LBteH 2t M
A 2 dE
B AxES 250lzAl
o 23toisdls 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=3teld g 3,141,359 2,774,073 367,286
= 36,000
Al 53,000
- 3,062,359
AL =2 S0 1,103,004 1,065,036 37,968
= 36,000
Al 53,000
- 1,014,004
2 E 243t 1,103,004 1,065,036 37,968
= 36,000
Al 53,000
- 1,014,004
gd s 98,400 98,400 0
201 2= 98,000 98,000
03 A2 b 98,000 98,000
O0t=s= & 98,000,000 98,000
202 04l 400 400
01 =LHAHI 400 400
o220l 400,000& 400
HEsH 188,000 188,000
201 er2 3| 188,000 188,000
01 AtR2t2|HI 1,000 1,000
Oget+=EHI 1,000
OEAM S 2ElE 72 1,000,000 1,000
03 A= &I 187,000 187,000 0
OIEEESH 90,000,000 90,000
Oz Sat 3 AH 97,000,000 97,000
ANESH 91,940 102,140 10,200
201 fer=2 3| 90,000 100,000 10,000
03 A= 90,000 100,000 10,000
OADIg 2=+=3¢ 90,000,000 90,000
202 04| 810 810
01 =LHO LI 810 810
o220l 810,000 810
203 HR=H] 1,130 1,330 A200
03 A=A PR 1,130 1,330 A200
O=2zizs 243 R4
1,130,000 1,130
Sgsda 50,000 50,000
201 fer= 3| 50,000 50,000
03 &A= 50,000 50,000




A 2 dY
ZH: AxES 2H0BAY
tel: 23t=dE E4d5t CEEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=222/8g JH2 103 IS A
50,000,000& 50,000
RSN 23,810 23,810
201 er=23y| 23,000 23,000
03 A= I 23,000 23,000
O=thH 12,000,000 12,000
osgd 11,000,000 11,000
202 04l 810 810
01 2LHoIH 810 810
o220l 810,000 810
etaEsttl=al 2o es XA 100,810 100,810 0
= 36,000
- 64,810
201 er2 3| 100,000 100,000 0
= 36,000
- 64,000
01 AtR2tc|Hl 5,000 5,000 0
Oget=ZH] 5,000
oelMEE= 5,000,000& 5,000
2 35234l 5,000 5,000 0
Os&82= € MA 5,000
Ogt=2s0=3l2Ags H3lH|
5,000,000& 5,000
03 A2 I 90,000 90,000 0
Ooggy== 2324 S 90,000,000 90,000
= 36,000
- 54,000
202 04l 810 810
01 =LHA LI 810 810
o220l 810,000& 810
S42 Ol=is 318,240 318,240
201 fet= 3| 17,430 17,430
01 AtR2tc|HI 17,430 17,430
Oget=EH| 17,430
OZHE AIRES 7 1,400,000 1,400
o458 MA 7
1502 +1,0000H*2E5+23] 600
O8=22 ME(AUHI S)
1,000& 2,500 +43] 10,000
OuIRJI=kE § 7Y 3,000,000& 3,000
OISt 2I13H)| dX=
202,500 122 2,430
203 HE=AH] 810 810 0




A 23AdY
ZH: AxES 2H0BAY
tel: 23t=dE E4d5t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
03 AR FRIHRFAIY| 810 810 0
OulETis 245 gexz
810,000& 810
301 LB F 300,000 300,000
14 J|EtE A2 300,000 300,000
OZA=Z 300,000
Ozt 2A= 300,000,000 300,000
SHM=" 22 105,150 110,150 5,000
Al 8,000
- 97,150
201 LB-2AH| 1,540 1,540
01 AtR2telt] 1,540 1,540
OctAZ2Y &9 M 60,0002 *9JH 540
OsHi=t 29 HIZFL
1,000,000& 1,000
203 AR F=&lH| 810 810
03 Al FRIHRFAIY| 810 810
OET02E 2% YLEX
810,000& 810
301 LPENZ 102,800 107,800 25,000
Al 8,000
- 4,800
Ro=HA - 2S2SEA43 102,800 107,800 5,000
Oonggat 24 41,600
OXIZA =% 250,0002 43| x 15+ 12& 12,000
OBtz =4 100,000& *43|*1H 123 4,800
o%E ¢ 100,000 *43]| x 15+ 12& 4,800
O&FI|AH=F3l 12,000,000& 12,000
Al 8,000
- 4,000
QI8 =3 5,000,000& 5,000
OEUZ &It S 3,000,000& 3,000
OdZLIAHAER 2Y 29,600
OXIZA =< 250,000 x43|«1H+8H 8,000
oyE ¢ 100,0003 *43| x2H «8& 6,400
OFINHAF3 7,600,000& 7,600
OJ|18 =3 7,600,000& 7,600
OadAr{EaH 29 31,600
OX & X =< 250,000 43| *1H 123 12,000
OBt =Y 100,000& *43|*1H 123 4,800
o%E ¢ 100,000& *43|*1H 123 4,800
OFI|AHF3 5,000,000& 5,000
O©J1=l =3l 5,000,000& 5,000
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2A:

Ssteldg

Az JYHGILD CHESH SFAIE 29
Chel: 2siolEY AL oHE B2 (Shol: % 2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OHEEH (82, IIELYH)
13,868, 5902 13,869
ogmaR4Y
9,860 x 150%*48A| 2Hx5 & «2H 7,100
ORI 10,0003 x22 U x8 & x2H 3,520
OAIBIEE (OIS 3) 5,848, 100& 5,849
OZIHOHYR (B2 ANM) 12| 52,626
oJ=a 9, 8602162 4| 2142 x02 29,817
CIEEEERA
14, 7903 *6H *4 A| 214 L 08 12,779
Oy 9,000& *6H * 18U +9& 8,748
OAIBIBE (DI AEES) 1,281,690& 1,282
ST 3,000
OBUF AMoHYE 22
150,000& 10 x23| 3,000
201 LBt AH| 142,061 152,463 A 10,402
01 AlR221H| 49,555 16,326 33,220
OLeragH| 12,270
OAE B2 LBS 25 HWH
570,000& 570
O 2] 5,000&*10H*6I1 A+ 12E 3,600
ORNZH U8 442
400,000 x12& 4,800
OAJ|t2 AloXtE X CIAY
30,0002 15 x23| 900
O22= ME 10,0003 x 10 *123] 1,200
OHAIZE EAIE MIE
15,000& 20 & *43] 1,200
o=zl 3,456
0Be2L @ S|
8,000 x 12 34! x 128 3,456
OADEIU(HHCHHR HIB S)
15,0002 »20H 300
ODABV=DS 2ALE
400,000 *1H*13] 400
OKXZelHl(seld, olssE4 5)
457 ,000& x 128 5,484
OsXZeldl(seld ¥2s sl
1,334, 750& 128 16,017
ORUIIAH SAE=22]
1,938,000& 63 11,628
02 S324| 92,506 136,137 N43,631
O3222 ¢ HAl 37,656
O=EE=E2H ¢ 430 +60024 * 12 3,096
O2X 022 (&:2)
36&*20,00021*43| x 12& 34,560




2A:

SISl PSR

= Aot HNE 23N 2E
ool 2slojdg MM orE e (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlE &I Xl 40,250
ORUAIZ2e] 6,000,000& 6,000
OSEASH U AT S 7L
8,000,000& 8,000
OxgJ| &3 s 7¢ 13,000,000 13,000
OZZHHRI2AH(HR &)
2,500,000 *2CH 5,000
OIlot: =8 & =F(FS)
165,000 *5CH* 102 8,250
ORUse FXA2el 10,000,000 10,000
SUEE RX2c 4,600,000 4,600
202 04l 810 810
01 =LHA LI 810 810
o220l 810,000& 810
HAAE & R 2l 726,513 486,907 239,606
201 fer= 3| 476,513 486,907 A10,3%4
01 AtR2tc|HI 247,935 49,562 198,373
Oget=EH| 48,302
ogda=s 703*7, 741 M %43 2,168
o=l oEB HEE
197,000 *3CH* 12 7,092
052 HIIZA =8
130,000 *3H 390
OAZAIE H& & 22l 5,560
oLy JLEH 1,600,000& 1,600
@ otMae| AR
330,000 x 122 3,960
ORI BRI CHE 1,000,000 %122 12,000
OR0IAYIBY 248
242,503 x 122 2,910
OFAL H& dtg)| FAl2ce|
13,4481 #5801+ 12 9,360
OXIEelA)| =8 35,0003+ 122 420
OFB0IEE 228 U (EEX )
665,000 * 122 7,980
oHl&gdI| KFRHI(ZR)
1,832 +2302| E1 %12 422
O=2g+¢ 199,633
O=steldYg 2= 4+
70,0002 x6H +33] 1,260
OFA =Z 2| 1,833,333&x12& 22,000
OFA HAEH 14,697, 7502« 12& 176,373
02 S3=4gl 228,578 437,345 A208,767
O332= € HAl 144,660
o8IIR3 10,000,000 «12& 120,000




2A:

SISl PSR

= Aot HNE 23N 2E
ool 2slojdg MM orE e (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odotr=e= 1,300,000& «12& 15,600
OuUSRUFES 2,500,000& 2,500
OlHAsld AEZ
35,0002 %1004~ 12& 4,200
OSx=SASH Ity
2,000,000& 2,000
ORd V=2 15,0002 <20« 122 360
OAIE2 &= X 83,918
OAESHNEY HAAE FIHEEH
5,000,000& 22 10,000
OF A =Xl2tcltl 10,000,000 10,000
OFA =cl& Ha 2, 7403 1,094m’ 2,998
OBt M= 6,000 «350m" 2,100
(OF=1= e W= 5,000 *160E*22 1,600
O3XJ| M2 2,000,000 2,000
O&J| =&t FX|2c|]
2,000,000& 2,000
Oblag®I| X2l
1,000,000 1,000
Os2I| |RAl2el| 1,000,000 «3CH 3,000
OJIAEHl, A2 S FA2ciH|
3,000,000& 3,000
O3x4 |Al2c] 2,000,000 2,000
OggEs H4 ad &5 5,000,000 5,000
OO0r2l +=ZAE(2xU)RX2el
9,000,000 9,000
OFA ST HHE)| dHWED| MA
90,0002 *58[H 5,220
OFA 24| Hte 0 2
11,0003 %904.9m’ 10,000
OFLSAY & Sl FA2L
416,666 x 123 5,000
O4dt=E & A2 |RX2el
5,000,000& 5,000
O3 SI1X3] G2l WA
2,500,000 *2CH 5,000
401 A2 HIZL R 0HHI 250,000 250,000
01 Al&HI 250,000 250,000
O=stodY HAL 24k g ZAL
250,000,000 250,000
HH 23 1,056,818 858,358 198,460
o2 dt(2sedY) 1,004,711 806,554 198,157
el E2d| 1,004,711 806,554 198,157
101 ©1AH| 998,474 800,667 197,807
01 2= 339,322 339,617 A295
OJlEs 233,526




FA: 2 dE
B sE2oAY|
Chel: ol 2oy (231D (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CERES 213,601
@6=(283) 4,414,500 «2H 123 105,948
0/=(7%) 2,561,300 2E 122 61,472
03=(33) 1,924,200 x2E 128 46,181
OX I &H| 213,601,000 *1.7% 3,632
od2=+¢ 217,233,0008 /12&+0.9 16,293
OIEse 3,960
(©LIEN, 40,0003 x32+ 123 1,440
ORAINE(RL) 20,0002 28 * 122 480
ORYINS(RMI)
30,000+ 12+ 122 360
ORLIH=E(SMAH)
70,0008 x2S * 122 1,680
OdZ2=gitit= 3,720
©5-10 Ojet 50,0002 x 18 » 122 600
©10~15& 018t 60,0002 x1& 123 720
©204 Olat 100,000 x2&* 122 2,400
OZ2s=d=Ibrt= 480
©20~25 01et 10,0002« 1E*12& 120
©254 Ol&t 30,0002 x 18 x 122 360
OIg+¢ 600
=3 50,0008 x 18 x 122 600
Oliesa+¢ 4,344
o538l 4,414,500 =28 *4 1%+ 12 4,344
OS24 240
OJl=82=¢ 240
@8 20,0003 18 x 128 240
O ] 90,985 x5 x2H « 12 10,919
Ozxu=z2e=g 31,579
OAIZRZRE
12,5313 +30A1 2H6H 123 31,579
OZH=AHI 140,000& 62~ 123 10,080
OEE=IH| 217,233,000& / 122 »60%+23] 21,724
OcJt2 &l 5,190
ogery
217,233,0002 /122 +86%/302 10! 5,190
O&AsExH| 12,960
o6= 185,000& x2& 123 4,440
ors 180,000 x2& » 122 4,320
O8= 175,000 x2&* 122 4,200
02 JIEtAE = 604,067 408,391 195,676
OZIIH 334,529
OgJIxsE 78,940,000& 1 78,940




A 23AdY
B sE2oAY|
Sl OIHSAH|(232EH) (G &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAIINT7= 54,670,000&*1H 54,670
OAIINT7= 53,672,000&x1H 83,672
OYIINT7= 51,553,000& 1 51,553
OYI|N8= 43,767,000& x2H 87,534
OX <Al 326,369,000& *2. 5% 8,160
o= 1,560
Ol EN; 40,0003 *1Z 123 480
ORAINE(ER) 20,0003 x1F 128 240
ORLIIE(SMAA)
70,0003+ 1H 123 840
OFgdzZR=g 90,9851 5«4« 12& 21,837
Ox222Y 32,570
OAI M7= 11,3193 x50 A 2H+3F * 123 20,375
CEBINEE] 10, 1622 %50 A| 2H:22 x 122 12,195
OFAZ AL 140, 0002 6% * 128 10,080
Ot Al
326,369, 0003 86%*84%/ 122 /30«10 6,550
OzelgRaY 6,100,500 *84%+M%x 122 5,535
(@NE=3=k=: 1= 412,661,000& *1.75% 7,222
OXZEZH| 15,780
O Hb5= 400,000+ 1=+ 123 4,800
OIINT7= 185,000+3% * 128 6,660
OYI|N8= 180,000x2ZF 123 4,320
OAIRHIE R DIH 168,404
OpIE==; 133,260
O AIZHEHEHUIIHI(CHS)
52,817,000&*1H 52,817
QAIZIEHETHLDIHI(2t2)
38,5%,000&+2H 77,192
@ 244l 130,009, 0003 *2.5% 3,251
(OESN 13,291
QO AIZTEHEHILIIHI(CHE)
11,3193 *35A 2H 1B+ 123 4,74
QAIZIHETHUDIHI(2t2)
10, 162%35A1 24+ 2+ 123 8,537
OE2ARE 5,617
@ AIZHEEATHI(CHS)
169,400 x1H 122 2,033
@ AIZHEHEIATHI(2HS)
149,300x2Z » 12& 3,584
(OFSEL=Eali]l 5,040
QAIZHEEDIHI
140,000 *3H 122 5,040
OS2 4| 2,675




A 2 dY
B sE2oAY|
©el: IR HHI(2528L) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AIZHEEDITI(CHS)
52,817, 0002 +102. 5%/ 12+84%+86%/302! /7x70Al
2 1,087
18
OAEEADIHI(2HS)
38,596, 0002 +102. 5%/ 12+84%+86%/30L /7x70A|
2he 1,588
2d
ons=g= 159,883,000 *1.75% 2,798
(OFS= BN 5,723
O AIZHEEDIHI(CHS)
161,870« 18+ 12& 1,943
OAEEADIHI(2HS)
157,500=2F 123 3,780
03 SRA(RIH )22 UHE 4 55,085 52,659 2,426
OJlzs 2,638,600 «1& 128 31,664
oJlz2=+¢ 2,280
OFHZAH| 140,0002« 1+ 123 1,680
ou2lsy| 50,0002 x1& 122 600
og2+¢ 1,319,2802 x 122 2,639
OdZ2=gitita 60,0002 x1& * 122 720
OAItelx=& 959,040 x1H~12& 11,509
Og &=l 1,583, 1603 x1H 23 3,167
Ouxt=& 106,560« 1+ 10 1,066
ORg+d 40,0002 x1&* 122 480
Ooxe=g 130,000& x 1= 123 1,560
04 HSRESS 6,237 5,887 350
04 R (RIHA)22N BEESRES S 6,237 5,887 350
O4AtES 6,237
O=UALES 163,303« 1+ 12& 1,961
OLEIRYEE
20,9202 18 x 122 252
onE:=d 80,6302 x1& » 122 968
o=z 207,350« 1H+ 123 2,489
O4tIHEE 47,1802 x1&x 122 567
22H(23t2E8 ) 52,107 51,804 303
JI23Hl 52,107 51,804 303
201 et 3| 18,792 18,504 288
01 At2t2l] 18,792 18,504 288
Oget=ZH] 3,696
OJ2 AR/l 21,0003 128~ 12& 3,024
otlz2+=g 672
L_ES=oN 20,0002 x12 122 240
(NN 9,000 x4+ 128 432




FA: 2 dE
Zu: s
CHel: J|2dI(232A8Y) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ogxz 2,760
OSAPI Stz 230,000 «1CH*12& 2,760
Od&EH A2F 3,120
ozZgH & F#
173,30021 3062 3,120
ozl 9,216
oS2xe 3|
8,0003* 12 +8Ax 122 9,216
202 04| 20,160 21,120 960
01 2LHA b 20,160 21,120 A960
OZ2U 048l 20,0003 x 12«72« 12& 20,160
203 g4l 3,180 3,180
02 SRIHAA =T 480 480
OF AL TH|(129)
40,0002 12 480
MU A2 LRSI 2,700 2,700 0
O21E=24(1580l3t) 250,000 x 122 *90f% 2,700
204 MR AH| 9,975 9,000 975
01 MM SR A| 1,800 1,800 0
oz 180,000& x1~12& 1,800
2 SELR3H| 8,175 7,200 975
oualesl 50,0002 x11H« 122 6,600
OISt (AZHI R IH)
43,7502 x3&* 122 1,575




